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ECLOUD Elastic Yield 50% and Potential Well Energy of 150 eV

— cos(6, ) =0
— cog(6,,) =0.2
— cos(6, ) =04

—— cos(6..)=0.6

NG

cos(0., )=1

NG

1 2 3 4 5 6 7 8 9
I ncident Electron Energy (eV)

=
o

og\\\\‘\\\\‘\\\\‘\\\\

25 30 35 40 45
I ncident Electron Energy (eV)

‘5 10“15‘”20‘”

N
o



Elastic+TrueYidd

Elastic+TrueYidd

ECLOUD Elastict+True Yield 50% and Potential Well Energy of 150 eV
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POSINST Elastic Yield 50% and Energy Slope of 60.86 eV
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POSINST Elastic+True Yield 50% and Energy Slope of 60.86 eV
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